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(a) (i) Write down the value of x? + 3x — 4 when x = 0. — q'

(ii) Factorise x? + 3x — 4.
(= -)(erw)
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(b) Sketch the graph of y = x? + 3x — 4, labelling any points where the graph intersects

the coordinate axes.

b) VUSInG AnsweRsS FRam (o)

OC INTERCEPTS = SOLVTIonS
To (e~ )(x+ud)= O

= | xX= =4
(v, o (-%,0)
\j INTERCEPTS o =0

Y=

(of“")

&)

Fsavemyexams

DRAW CORVE THEN ADD AreS

A‘j

d:)c’—zx-g

(-Lr, )

(o)

o-v

\4

¢




image7.png
(a) Express2x® + 247 — 12v in the form @¥(¥ + b)) where a, b and ¢ are integers 6\) FACTORISE LARGEST FACTOR OF ¢

to be found.

@ 20¢ (2¢? + 0¢ —é)

TACTORS oF -~
(b) Hence sketch the graph of y = 2x® + 2x? — 12x, labelling any points where the TFACTIRISE RUMAPRLATIC —1 &6
graph intersects the coordinate axes
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(a) Ex:refssb‘z:+Z=cz—121inﬂ|eﬁ1rmux(x+b)(x+c),whereu,bandcareinlegers DQAW CVRVE THENW Apvp AXES 1IN
tobe found. CORRECT PLACE
29((1 —?Xx+3) 2
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(b) Hence sketeh the graph of y = 2x* + 2x? — 12x ,labelling any points where the

graph intersects the coordinate axes.
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y is proportional to x.

Whenx =2,y = 10.

(i) Find the constant of proportionality.
(i) Sketch the graph of y against x.
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By sketching the graphs of y = x* and y = % on the same diagram show that there are
two real solutions to the equation x* = %,
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(a) Use the factor theorem to show that (¥ = 2) isa factor of the function a) Te (DQ -Q) LS A FACTOR ((a) =0
f(x) = x* —2x* —4x + 8.

2 SiHow F(?-):o

3 2
o f(2)= 22 2()*- k() +&
(c) Sketch the graph of y = f(x) labelling any points where the graph intersects the _ _ -
coordinate axes. 8 & 8§+ = 0O

(b) Hence, or otherwise, express f(x) as a product of three linear factors
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(2) Use the factor theorem to show that (x — 2) is a factor of the function
f(x) = x* —2x* —4x + 8.

f(2)=0 THeeerore
(2c-2) 1s p FACTOR oF f(=) [21

(b) Hence, or otherwise, express f(x) as a product of three linear factors.

121

(©) Sketch the graph of y = f(x) labelling any points where the graph intersects the
coordinate axes.
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(a) Use the factor theorem to show that (x — 2) is a factor of the function
f(x) = x* — 2% —4x +8. ) C)‘DQ‘“") CURVE THEN App AXES 1N
CoRRECT PLACLE
2]
(b) Hence, or otherwise, express f(x) as a product of three linear factors.
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(c) Sketch the graph of y = f(x) labelling any points where the graph intersects the
coordinate axes.
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The diagram below shows the graph of a circle with equation (x — 3)% + (y +2)* = 9.
Add straight lines passing through the point to the diagram to show how the circle can
have either no, one or two intercepts. All lines must pass through the point (-6, -4).
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Sketch the graph of y = 6 = 12, labelling any points where the graph intersects the
coordinate axes.
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Sketch the graph of y = ¥2 — 1, labelling any points where the graph intersects the DRA INE Y] RVE THEN AD D AXES

coordinate axes. Q QJ-ADQA‘” . U
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Sketch the graph of y :! labelling any points where the graph intersects the

coordinate axes and stating the equations of any asymptotes. LnNo
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(i) On the axes below, sketch the graphs of bothy = and y = =x + 2. | "i) GRAPH § CROSS AT ( 0, )
d:’s
'l) i Xz | d )
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(ii) Using your graph, or otherwise, find the solution to the simultaneous equations

y=xandy= —x+2
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() (i) Write down the value of x? + 3x — 4 whenx = 0. b4 .
(0 Wi oo oD @) {) ALL o¢ Teems = o

2 -4

(b) Sketch the graph of y = x? + 3x — 4, labelling any points where the graph intersects
the coordinate axes.
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